20114

SN
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S Tt

el

-

[
2

2 A

L RE-E

- SHRI(EAH) - NEAY - BE=

Al OH

— T

20
B
2

HOHHD W

39,916,465
23,500,976
972,111
6,767,428
8,675,950

39,208,051

H

4,161,751
1,671,327
1,649,947

840,477

3,483,949

677,802

W

4,152,111
1,671,327
1,649,947

830,837

3,448,789

703,322

48,800

29,000

19,800

4,000

5,000

21,000

20,000 » 50 = 43

4,000
4,000

5,000

A 1,000

39,800

19,000

20,800

40,000 » 100 * 13l

15,000 » 1,000 = 13

10,800,000

S s A

10,000,000

19,000

4,000

15,000

20,800
10,800

10,000

19,000

20,800

5,000

5,000

000,000 » 14!

5,000

5,000

5,000

H W

817,000
571,900
122,550
122,550

1,244,500

A427,500

H

817,000
571,900
122,550
122,550

1,244,500

A427,500

817,000,000

M

817,000

817,000
571,900
122,550
122,550

1,244,500

A427,500

Holel= HIXI&

52,815

36,988

15,827




2N =
X

Ha: Zojol =2XNSH
SOl TOHOI MEBOIN X & (el:@g
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
= 42,252
= 5,282
2 5,281
301 YsrEAS 52,815 36,988 15,827
2 42,252
& 5,282
2 5,281
01 APSIEE X253 52,815 36,988 15,827
o ZOHl 92| 50,715,000 50,715
= 40,572
= 5,072
2 5,071
o OO PED 2,100,000 2,100
2 1,680
= 210
2 210
& O) 1 XHA 3| X & 2,462 2,462 0
3 1,970
= 246
2 246
301 YBrEAS 2,462 2,462 0
2 1,970
= 246
2 246
01 APSIE R X253 2,462 2,462 0
o mOHQl XHASHH X 2,462,000 2,462
= 1,970
= 246
2 246
BOHOIS R Y+ 72,000 72,000 0
= 50,400
= 10,800
2 10,800
301 YBrPAS 72,000 72,000 0
2 50,400
= 10,800
2 10,800
01 ABIEE X253 72,000 72,000 0
o BONOIE RY+Y 72,000,000 72,000
2 50,400
= 10,800
2 10,800
SO =R OH OIS ) E ALY 19,000 19,000 0
3 9,500
& 4,750
2 4,750
401 AEHIYLS ] 19,000 19,000 0
2 9,500
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cHel:
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el
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R
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EURGH

4,750
4,750

01

A&

o sOE M

e
2l
Je
FA
=
e

19,000,000

Mo

19,000

19,000
9,500
4,750
4,750

19,000

ZHoR el

=X L Xl X

Mo

24,224
12,112
6,056
6,056

24,224

101

M

24,224
12,112
6,056
6,056

24,224

04

24,224,000

M

24,224
24,224

12,112
6,056
6,056

24,224

Mo

66,689
33,345
16,672
16,672

66,689

101

MW

66,689
33,345
16,672
16,672

66,689

04

66,689,000

Mo

66,689
66,689

33,345
16,672
16,672

66,689

Mo

370
185
93
92

370

M

370
185
93
92

370

370,000

M

370

370
185
93
92

370

254,932

254,932
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Ha: Zojol =2XNSH
SOl TOHOI MEBOIN X & (el:@g
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
2 178,452
= 38,240
2 38,240
307 2120/ H 254,932 254,932 0
2 178,452
= 38,240
2 38,240
05 DI2t9IEr2 254,932 254,932 0
o EETNO BSETAIY 254,932,000 254,932
= 178,452
= 38,240
2 38,240
X OHOS THE XI B ALY 72,000 72,000 0
= 50,400
= 10,800
2 10,800
307 2120/ & 72,000 72,000 0
2 50,400
= 10,800
2 0,800
05 QI2t9iEta 72,000 72,000 0
o BOHOISHEXE 72,000,000 72,000
2 50,400
= 10,800
2 10,800
ZOHQl THE K 2,000 2,000 0
2 1,600
2 400
301 YBrEAZ 2,000 2,000 0
2 1,600
2 400
01 APSIEE X253 2,000 2,000 0
o HOHY MESZEIIT 2,000,000 2,000
= 1,600
2 400
ROHQl THE X 2K 3,000 3,000 0
301 YsrPAS 3,000 3,000 0
01 ALSI R X253 3,000 3,000 0
o HOHQI ABLWOIZ THE X 2|
3,000,0008 * 12 3,000
N RSl EimE 3,600 38,850 35,250
201 Yereg| 3,600 27,800 24,200
01 At 3,600 27,800 24,200
< UBrAgY| > 0
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
o HOHQ MO LOHH MX 2t
30,000 + 10052 3,000
<2gag > 0
o OO BT LAY 100,000 * 63l 600
AT AN 2YX 1,560,774 1,580,774 0
= 1,280,341
2 300,433
307 21210 H 1,560,774 1,580,774 0
= 1,280,341
2 300,433
EENEES 1,580,774 1,580,774 0
o MAURUAS 2t 1,540,336, 000 1,540,336
= 1,241,702
2 298,634
o HARUAS BAX SE2Y 36,840,000 36,840
= 36,840
o AURAAS LFRAY 3,598,000 3,598
= 1,799
= 1,799
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= 132,000
2 132,000
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2 616,000
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2 132,000
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2 616,000
= 132,000
2 132,000
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01 Al 100,000 0 100,000
o HUHAZEENSI2 A EXNHLY)
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o ZUWASH=IE B A LA
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307 212t0 2,400 0 2,400
2 1,680
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= 21,757
05 912t9IEr3 145,045 0 145,045
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20,000 * 4% * 82 6,560
wpgEzel L AL 154,665 174,665 20,000
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= 154,265
222 2Y 154,665 174,665 20,000
< 400
2 154,265
BEHY BA L AT KR 16,265 16,265 0
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S OISR
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©ol UGRASAME X
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i
307 BI2t0IA 12,246 3,198
= 6,123
= 6,123
06 283 12,246 3,198
o NEAZAR EHE X2 12,246,000 12,246
= 6,123
= 6,123
RHAZA B KA (2E) 18,400 18,400
= 6,400
= 12,000
201 Lere gl 4,000 4,000
= 1,200
T 2,800
01 At el 4,000 4,000
o NESAESH 4,000,000 4,000
= 1,200
= 2,800
206 TH2HI 5,000 5,000
= 1,500
= 3,500
01 MEH 5,000 5,000
o NESAES HEH K& 5,000,000 5,000
= 1,500
= 3,500
307 BI2t0IA 9,400 9,400
= 3,700
= 5,700
02 QI2tHAE R 9,400 9,400
o NeAZAZSH X 5,000,000 5,000
= 1,500
= 3,500
o JlsY sy M2EAS X” 4,400,000 4,400
= 2,200
= 2,200
R =ZAL ZCIUIOIE X 35,011 28,000
= 7,005
= 18,006
101 @I 24H| 35,011 28,000
= 17,005
= 18,006
04 JIAH2ERNSES 35,011 28,000
o XFEZA RCIUIO0IE X 34,011,000 34,011
= 17,005
= 17,006
o NEZAHME RCIUIOIE 29l NS &40
bl 50,000 * 29 * 102 1,000
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FAH-FH-SASA) - NRAE - BE=Z A} OH MEE =
. (=} T ° - [= Bl e (L] 0:”/&,% S o
IRAE MBAL(ZFEHWT) XA 5,000 5,000 0
= 1,000
= 4,000
I2+0| & 5,000 5,000 0
& 1,000
= 4,000
10 AtSIZ2XE X 5,000 0 5,000
o J|IRAZHBAE 5,000,000 5,000
& 1,000
= 4,000
MNES XIH 14,000 18,000 24,000
BRI 1,000 1,000 0
A 2l 1,000 1,000 0
< YiBt=ZH| > 0
o NS AECIDIWE HEXIE 100,000 * 1094 1,000
dotE Az 2,000 6,000 24,000
HALAHIEAZ 1,000 5,000 24,000
o N SAA 2tel W= OHl 50,000 » 20H 1,000
JIEtE A Z 1,000 1,000 0
o N SAMA afoiXIZdl X2
1,000,000 * 14| 1,000
gI2tol A 11,000 11,000 0
AMNI=REZ 11,000 10,000 1,000
o NS AHA U3l XI& 3,000,000 * 1I9H 2 3,000
o XNESAM =228 K&
8,000,000 * 14! 8,000
AMEEH 29 Zbl 4,540 3,120 1,420
et | 4,540 3,120 1,420
01 AFR 22| 700 700 0
<2d+E > 0
o NISAMN2IRRE &Y
70,000 » 5F * 23| 700
02 =234l 3,840 2,420 1,420
< SSRILHA > 0
o UHASMEEH d3le=z 60,000 » 123 720
o XJSAMAL SAMEIA S 20 * 20,0004 400
o XNFASAMAL fBES Y
250 * 30024 * 123 900
<HzHl > 0
o URSAMAH H2E SJUI
2,000 » 8AIZ2+ » 70 1,120
< AEEHIRXY > 0
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_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
o TG SAMAE HED] =871
300,000 = 1CH 300
o AZSAMUEE H&EHH 62X
200,000 * 1CH * 23| 400
== MEBH NASSE K& 12,319,906 11,617,529 702,377
= 9,778,532
L= 1,210,790
i 1,330,584
J=dE2y 9,445,180 9,068,418 376,762
= 7,544,846
= 926,449
s 973,885
EJCPADNE-! 4,060 4,060 0
301 Ypt8azg 4,060 4,060 0
01 MIBIEE X =0l= 4,060 4,060 0
o MO A AHIKH 20,000 = 494  12& 960
o ZAEE A AEHH 60,000 » 10 600
o HOHA EHb 500,000 » 5 2,500
IIZMEEE MASH 6,890,309 6,997,846 A 107,537
= 5,512,247
= 689,031
= 689,031
301 YptEazg 6,890,309 6,997,846 A107,537
= 5,512,247
= 689,031
= 689,031
01 A2 A0z 6,890,309 6,997,846 A 107,537
o JZMESZE MASH 6,890,309, 000 6,890,309
= 5,512,247
& 689,031
= 689,031
IIZHESBZE F=H2H 1,829,702 1,525,444 304,258
= 1,463,762
= 182,970
= 182,970
301 EtEA = 1,599,702 1,305,444 294,258
= 1,279,762
= 159,970
i 189,970
01 M2 X =0l= 1,599,702 1,305,444 294,258
o J=MEREHE =20 1,599,702,000 1,599,702
= 1,279,762
L= 159,970
s 189,970
307 GI12+0I & 230,000 220,000 10,000
= 184,000
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ZOIME XA
ZOOIZMYBY HLASE N
PESTEL kS (Etel: &8
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
= 27,703
& 13,852
= 14,852
101 Ql244| 48,671 46,280 2,391
= 23,835
= 11,918
= 12,918
04 JIZtMZ22XsSEx 48,671 46,280 2,391
o AMSSXNSEAEA MEZQAXNA
47,671,000 47,671
= 23,835
& 11,918
o 11,918
o NISXSEAEIA B229 22 D0
50,000 = 2% = 10 1,000
201 2EtE3| 2,500 0 2,500
= 1,250
& 625
= 625
01 AtR2t2lH| 2,500 0 2,500
o AISISXSEAEIA At Z2lAIY 29|
2,500,000 2,500
= 1,250
& 625
= 625
301 et A= 5,236 0 5,236
= 2,618
& 1,309
o 1,309
01 AMIBEEESGE = 5,236 0 5,236
o ANZ=2XESAMHIA At 22l AR JDFR X
Falsl 5,236,000 5,236
= 2,618
= 1,309
= 1,309
NE=PNE 1,703,080 1,659,948 43,132
= 1,333,330
= 171,796
= 197,954
AE2Z2 ALY 1,304,268 1,328,970 N24,702
= 1,043,414
& 130,427
o 130,427
206 M= Hl 20,000 20,000 0
= 16,000
& 2,000
- 2,000
01 M=zl 20,000 20,000 0




FH: F=QIMETA 0
Hal: FWIIZMERE HALSS N
¢ X (ctel: &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
o NEZZAY HZH| 20,000,000 20,000
= 16,000
L= 2,000
i 2,000
301 LertEas 530,000 638,970 108,970
= 424,000
L= 53,000
= 53,000
01 AIBIEE X =0dl= 530,000 638,970 108,970
o SH NEIZZAY 500,000,000 500,000
= 400,000
= 50,000
s 50,000
o A28 = 30,000,000 30,000
= 24,000
& 3,000
i 3,000
307 212toI& 754,268 670,000 84,268
= 603,414
= 75,427
i 75,427
05 BRI = 754,268 670,000 84,268
o XNEXEdEH XHEI22 A 754,268,000 754,268
= 603,414
L= 75,427
i 75,427
NEALSIH 41,131 19,980 21,151
= 32,905
L= 4,113
= 4,113
301 LptEasg 41,131 19,980 21,151
= 32,905
= 4,113
= 4,113
01 AlRI2EEE 2563 41,131 19,980 21,151
o XNEASIH 41,131,000 41,131
= 32,905
= 4,113
= 4,113
NEX&EH 23| 188,380 148,320 40,060
= 123,466
= 17,638
= 47,276
307 212t01& 188,380 148,320 40,060
= 123,466
& 17,638
i 47,276
02 ItAANE X 188,380 148,320 40,060
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X zH: 30O
o Tt —/

J
e X

2 (crel @
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
o XSXEHE 2YHI(1IH4) 176,380,000 176,380
= 123,466
= 17,638
= 35,276
o XAXEME ARA UMD X

1,000,000 * 122 12,000

DA E S 2 E 20/ ALY 92,321 92,321 0
= 74,745
= 8,788
= 8,788

307 ©12+01 ™ 92,321 92,321 0
= 74,745
< 8,788
z 8,788

05 I2t9ieta 92,321 92,321 0
o JhARY SEE20IAY 92,321,000 92,321
= 74,745
= 8,788
T 8,788

NAREHE SAR SEag 3,480 3,480 0
= 3,480

307 ©I2r0l M 3,480 3,480 0
< 3,480

02 QI2tHAE R 3,480 3,480 0
o NAREHEH SAX SE4Y 3,480,000 3,480
= 3,480

5%IISEY X 73,500 66,877 6,623
= 58,800
= 7,350
= 7,350

301 YptEAZ 73,500 66,877 6,623
= 58,800
3 7,350
T 7,350

01 ASI2 XX 2513 73,500 66,877 6,623
o 5YISEH N 73,500,000 73,500
= 58,800
< 7,350
= 7,350

MRS K8 1,050,519 789,402 261,117
= 805,855
= 100,732
= 143,932

XI©4 ALS] A Bl A 34 AL A 1,007,319 731,258 276,061
= 805,855
= 100,732
= 100,732
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SM EOMBETAD
M RI|ZMELE HASS N
CHolt TASIE X R
_ _ _ Muo
SA B G(E) - NEAY - B AroH i HREZ
307 QI2t0IA 1,007,319 731,258 276,061
= 805,855
= 100,732
= 100,732
05 2IIRAES 1,007,319 731,258 276,061
o XNYAS MBIASERALS 1,007,319,000 1,007,319
= 805,855
& 100,732
= 100,732
H&RAANE IUALBEZE KA 43,200 43,200 0
301 L2 A3 43,200 43,200 0
01 MIsIEE A =0l= 43,200 43,200 0
o RYFNE 2oIALLHE AL
* 45098 « 123 43,200
==X 121,127 99,761 21,366
= 94,501
= 11,813
= 14,813
b= PNDNE-! 118,127 96,761 21,366
= 94,501
& 11,813
i 11,813
301 et24a = 118,127 96,761 21,366
= 94,501
= 11,813
= 11,813
01 AlRIEEE 562 118,127 96,761 21,366
o sS=XNA# 118,127,000 118,127
= 94,501
= 11,813
s 11,813
Mol = 3,000 3,000 0
301 et2 4= 3,000 3,000 0
01 AISIEEE=0l3 3,000 3,000 0
o Mal=& 300,000 = 10H 3,000
Lo =EXNEA 15,639,685 16,515,779 AB76,094
= 9,407,232
=2 396,712
& 2,342,650
i 3,493,091
CEMEE & HotEsiE 11,873,988 12,744,590 A870,602
= 9,051,438
= 145,350
= 469,103
= 2,208,097
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SN FE0IMEX D
M LoI=N S
S9l LBMBON U OIIESK (9l & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
= 233,850
307 Q1201 105,280 5,000 100,280
= 2,640
2 102,640
02 pIABNBE 5,280 5,000 280
o FRY JIAQFIEI| 160,000 * 334 5,280
= 2,640
2 2,640
05 DI2tSIErD 100,000 0 100,000
o ARY 0IZRIY X
1,000,000 * 10074 100,000
402 212t X201 F 45,000 0 45,000
01 PIZTEEE 45,000 0 45,000
o ZEijyl FRY W)l X
800,000 * 254 20,000
o YRY ALYBEIIT X
500,000 * 507 4 25,000
Qolg S0l FHBAMM 12,000 18,000 6,000
= 6,000
2 6,000
402 Q12X 0|H 12,000 18,000 26,000
= 6,000
2 6,000
01 pIZXEEE 12,000 18,000 6,000
o RO SHLO EHEHAMMAY
3,000,000 * 444 12,000
= 6,000
2 6,000
ColUTtl A 755,560 758, 180 A2,620
= 377,780
= 188,890
2 188,890
101 24| 578,860 581,480 A2,620
= 289,430
= 144,715
2 144,715
04 JIAH2RZNEL+ 578,860 581,480 A2,620
o LolUR2 A 578,860,000 578,860
= 289,430
= 144,715
2 144,715
206 2| 12,600 12,600 0
= 6,300
= 3,150
2 3,150
01 HEt| 12,600 12,600 0




SN
X XH .
S Tt

el

CEE (S - MRAY - HAS

r

=1
R
121

0

SOl XtelAIY M=t

12,600,000

H

12,600
6,300
3,150
3,150

307

ol

[y

201 &

(-

H MW

164,100
82,050
41,025
41,025

164,100

2lAbS (AtSI & L Xtel) 164,100,000

M

164,100

164,100
82,050
41,025
41,025

164,100

H M

9,637,398
8,673,658
192,748
770,992

11,220,710

A 1,583,312

MW

9,637,398
8,673,658
192,748
770,992

11,220,710

A 1,583,312

9,637,398,000

H W

9,637,398
9,637,398

8,673,658
192,748
770,992

11,220,710

A 1,583,312

EURGH

7,662

3,831
3,831

7,662

307

Mk

7,662

3,831
3,831

7,662

02

Mt

7,662

7,662

3,831
3,831

7,662

Ml

20,788

10,394
10,394

20,788

402

Ml H1

20,788

10,3%4
10,394

20,788

01

2SI HEES

10,394,000 * 270 &

H

20,788

20,788
10,394

20,788




SN FolMER 2D
Y Lo=XEA
Sel: CsMEod 9 oJEsX (oo dd
- _ _ ME
SN B S2(BH) - HRAY - BES Off & o 0l A o1 HD=2
| = 10,394
H2Y =35 Z2O A2 22X 18,000 0 18,000
= 3,600
2 14,400
101 @124t 18,000 0 18,000
= 3,600
2 14,400
04 JIZM22UELS 18,000 0 18,000
o Z2Y =3 T2 AIZ 22X
18,000,000 18,000
= 3,600
2 14,400
LolgX ME g os8Ad XS 3,731,971 3,725,013 6.958
= 355,794
= 251,362
= 1,873,547
2 1,251,268
HA=Q Y THIt=Ql X 14,512 14,150 362
201 g2y 6,392 6.350 42
01 AtR2tel] 6.392 6.350 42
< Yereghl > 0
o LogX 228 M 5,000 * 30074 1,500
o Helif EY 250,000 * 2JH 500
o ARES 7¢ 20,000 * 5& * 128 1,200
< Sl > 0
o Lo=xge =& 7,000 * 3% * 1522 3,192
202 ol 3.120 2,800 320
01 2LH0iYI 3.120 2,800 320
o LOIZXAE NEHA
20,000 * 3% » 52 3.120
307 Q12t0IH 5,000 5,000 0
10 ABISXE X 5,000 5,000 0
o 0SS 2g4l 10,000 * 50% * 1004 5,000
LS8 JIEAMHIAAY 185,526 177,720 7.806
2 121,888
= 26,119
2 37,519
307 QI2+0IH 185,526 177,720 7.806
2 121,888
= 26,119
2 37.519
10 ABISXEX 185,526 177,720 7.806
o LSS J2MHIAAY 174,126,000 174,126
2 121,888
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SN FE0IMEX D
M LoI=N S
SHel: LOI=X ME L OIBAIL X (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
< 26, 119
2 26, 119
o LoE20 REY N
50,000 * 19 = 1242 11,400
BHIOIA B0l MAES AR 1,200 1,200 0
= 1,200
301 LBBAI 1,200 1,200 0
= 1,200
01 AtSIBEE 253 1,200 1,200 0
o 95HI0IA B4l AN D]
20,000 * 60% 1,200
= 1,200
LSS BB AHIAAY 334, 152 272,983 61,169
= 233,906
= 50, 123
2 50, 123
307 2I2t0IH 334, 152 272,983 61,169
=2 233,906
= 50, 123
2 50, 123
05 PI2tSIEt3 334, 152 272,983 61,169
o LSS FaAUlA 334,152,000 334, 152
= 233,906
= 50, 123
2 50, 123
COSTMEAL S| 1,907,364 1,982,244 A74,880
= 1,529,095
2 378,269
307 2120l H 1,907,364 1,982,244 A74,880
= 1,529,095
2 378,269
10 AEI=XEE 1,907,364 1,982,244 AT4,880
o LoMBAL 2| 1,819,844,000 1,819,844
& 1,455,875
2 363,969
o LoI=NAL SEIAY| 24,090,000 24,090
= 12,045
2 12,045
o LOoETAL AF L E=H2AY
2,860,000 2,860
= 1,430
2 1,430
o LO=XAIY SHEEEL 1,650,000 1,650
= 825
2 825
o LOIMBAL BAX SE4Y 58,920,000 58,920
= 58,920
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2AM: F
M Lol
(s I

dE 2 0I=ZAE XN (98

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

MIOt=QI=EXIAlIE K& 1,122,911 1,121,334 1,577
195,756
232,660
694,495

M 1AL

307 GI12t0ld 1,122,911 1,121,334 1,577
195,756
232,660
694,495

M H1 MO

10 MaISXIEX 1,122,911 1,121,334 1,577
o MIt=QSXAIE 23] 1,117,871,000 1,117,871

195,756
227,620
694,495

M H1 AL

g

o M- Q=IAE SAANSESS

5,040,000 5,040
5,040

H

dzAE R4 60,984 68,400 AT,416
17,146
20,346
23,492

M A

307 2120l & 60,984 68,400 AT,416
17,146
20,346
23,492

M 1AL

10 MISXIEX 60,984 68,400 AT,416
o HAZAY RS54 60,984,000 60,984
17,146

20,346
23,492

M 1A

HESHE ZAISHHE 33,040 30,000 3,040
23,478
6,354
3,208

M H1AD

307 Q12t0lH 33,040 30,000 3,040
23,478
6,354
3,208

M H1 AL

10 At2I=SXEx 33,040 30,000 3,040
o NSE8 AAHE 33,040,000 33,040

23,478
6,354
3,208

RURSINE!

EZAMN=sLQ AFALI] AL 15,300 0 15,300
7,650
7,650

M H1

301 LutEas 15,300 0 15,300
7,650

H
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SAM: FoMEX R
M Lol=X S
SRl LolsX ME Y 0|Z2AE X3 (¢t &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
iy 7,650
01 AMFIEEEGH2 15,300 0 15,300
o SZ A=l ot A D] 15,300,000 15,300
= 7,650
iy 7,650
A S XA E S R I2AH| 14,982 14,982 0
= 14,982
307 212t01A 14,982 14,982 0
= 14,982
02 QIZtFAE X 14,982 14,982 0
o AMNISAAE YA 2124| 14,982,000 14,982
= 14,982
SEAIEOE 29 42,000 42,000 0
307 QIz2to| A 42,000 42,000 0
05 DIZIRAEZ2 42,000 42,000 0
o FEMNEIT 2Y
3,500,000 = 1A = 12&€ 42,000
AN EE S 33,726 46,176 A 12,450
2 233 29 33,726 43,256 A9,530
201 LBt29H| 28,826 26,576 2,250
01 AFSR2eltl 8,726 6,476 2,250
< YBt=ZH| > 0
o H&EZY JH| 200,000 * 23| 400
o ZAIEX 25,000 * 128tA x 13| 300
o SAJ| EY 250,000 = 1CH = 13 250
o A E 250,000 * 1CH = 23] 500
o TglH &Y 250,000 = 1CH = 23] 500
o MI|otMZAL X 2 200,000 * 12& 2,400
o Tl & #HAFH = 200,000 * 13 200
o HExX HA 12,500 * 48 * 13| 600
o 83 HA 7,000 * 9& * 23] 126
o ANRES 20,000 * 105 * 6& 1,200
< Xtz > 0
o S&J| HM&E&EH Yxt 150,000 * 15! 2,250
02 s394l 20, 100 20,100 0
< SSQ3YLHAM > 0
o RERES 250 * 30021 * 128 900
o MRS 1,200,000 * 12& 14,400
o M= 50,000 * 12& 600
o QlHYAIEZ 50,000 *= 12& 600
o BEHIULREES 300,000 * 23] 600
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S EOIMETIR D
M LoI=N S
CH9l: HAIAIMEE

- _ _ N
SN EHH . H(EH) - NEAY - BES &k o4 0l A o1
< AIEEHISXHl > 0
o FTIIA AMERX e 3,000,000 * 14 3,000
202 OfHI 900 0 900
01 =2LHOAHI 900 0 900
o QXAX ooHAID) SX &0l
20,000 = 1H * 45 900
206 FHZ=H| 1,600 1,600 0
01 M=zl 1,600 1,600 0
o N&E&HH Jozs 160,000 » 10 1,600
307 BI2t0| A 2,400 2,400 0
05 oIzt =2 2,400 2,400 0
o ROIAHIAIAE 200,000 * 12& 2,400
HHE=EX-E= - X 6,299,775 6,190, 139 109,636
= 2,620,757
= 575,399
= 1,556,241
= 1,547,378
H&=X 63,084 73,239 A10,155
= 3,670
= 10,065
= 49,349
AN 245 K& 23,724 39,979 A 16,255
201 2Et23| 18,204 17,779 425
01 AF22teltl 18,204 17,779 425
< dt=ZH| > 0
o (AP EAE WMH(ME) S ME
10,000 * 510t= = 100Y 5,000
o HEZAHYR AIREE ¢
20,000 = 7& = 53| 700
o HEYENSSAEE & EE22 72
30,000 * 3074 900
<2¥+Y > 0
o ({&u=E ZAxE 200,000 * 4% = 63| 4,800
o &g Ed A=Y
70,000 * 3= * 83l 1,680
< 2H| > 0
o (4 % OIsSXNJAMNY HRFX
7,000 *» 69 = 122¢ 5,124
202 04| 3,520 3,200 320
01 2LHHI 3,520 3,200 320
o HHYER L ESIIALLIF =&
20,000 * 49 * 44 3,520
301 ptE A= 2,000 2,000 0
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SN FEOIMEX D
Ha: GEEX - 2% SN
S ERCPEEDY (e

il
x
0

2

. R (SAH) - MRAE -

0x
I
=
[
12
2
R
12
o
£l
0l%
IS

el

0z
oy

2,000 2,000 0
20,000 » 804H 1,600
] 2,000 » 200 400

0

N

A

B H
2z
(IS

z x

0
':
H o
]

e AR 8,500 8,500 0

3,550
4,950

M H1

307 G12t0ld 8,500 8,500 0

3,550
4,950

U

02 I2tda2x 8,500 8,500 0

o (dolEOISREEH 3,500,000 3,500
1,050
2,450

Mk

5,000,000 5,000

2,500
2,500

U

HAEXNYEALHOIRS 13,000 13,000 0

6,500
6,500

UL

201 LEHRHH| 7,500 6,500 1,000

3,750
3,750

Mo

01 AtR 22/t 7,500 6,500 1,000

o HNAEH A" X2 6,500,000 6,500
3,250
3,250
o MgEdH EE & ABRFHY 1,000,000 1,000
500
500

Ml

M

206 M=l 4,000 4,500 A500

2,000
2,000

U

01 M=Hl 4,000 4,500 A500
o A EH M=HI 4,000,000 4,000

2,000
2,000

EURGH

301 Let2a= 500 1,000 A 500

250
250

Ml 1

10 HAIAHIEA S 500 1,000 A500

o MYESH A 2HAHI 500,000 500
250
250

U

307 2120l & 1,000 1,000 0
500

H
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SN

Hal: GE=X - 25 SN
S ERCPEEDY (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
= 500
EIEEES 1,000 1,000 0
o Gi&EIDIRS 1,000,000 1,000
= 500
2 500
0l8E X e 10,560 11,660 A1,100
201 Yereg| 9,360 10,460 A1,100
02 BT 9,360 10,460 A1,100
<ZZRIYAA > 0
o OHER 2523 80,000 * 128 960
o GiuED ®IIR3 450,000 * 128 5,400
< NEEEISTE > 0
o ol8sE @ |xze 3,000,000 * 14! 3,000
307 QI2H0I 1,200 1,200 0
05 PIZteIES 1,200 1,200 0
o N3 P ALY 892
100,000 * 128 1,200
M= 3 IHZADHL 224 X 100 100 0
= 70
= 15
2 15
307 Q1201 100 100 0
= 70
& 15
2 15
NIEEEEEN 100 100 0
o HZ2 o IFE DA A2l N
100,000 100
= 70
= 15
2 15
OIE0HES Kool 2 7,200 0 7,200
= 3,600
2 3,600
201 Yer2g| 7,200 0 7,200
= 3,600
2 3,600
01 Attt 7,200 0 7,200
o OIE0IHESE NANHS 7,200,000 7,200
= 3,600
2 3,600
Had X 16,567 40,000 123,433
= 1,500
2 15,067
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SN

=0l
HE: 014

el A X (e
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Of) &b o il i~ o Rz
HAE 2SN 3,567 13,000 567
201 Y2 Y| 4,047 4,100 A53
01 AtR2elt] 4,047 4,047 0
< YBragY| > 0
o OIEYHAENE ANPRERY
22,350 * 5% * 43l 447
SROE=IF-PNEWNEIE 700,000 * 33| 2,100
o OISHAE DS D L ERAC
18,000 * 50% 900
o RUHAE TH U ANETY
30,000 * 20% 600
202 o1l 1,520 1,400 120
01 2UjoIHl 1,520 1,400 120
o HAUHSAANY =X
20,000 * 28 38 1,520
301 YerBAZ 2,000 7,500 A5,500
10 BAAEI 243 1,000 6,500 A5,500
o YA 259As DS Y 39
50,000 * 10 23l 1,000
12 JIEt2 A 1,000 1,000 0
o HAUSSH 9lY ADBAZ
200,000 * 5% 1,000
307 212+0IH 6,000 0 6,000
04 BIFBALBE 6,000 0 6,000
SN -PSERE 3,000,000 * 14! 3,000
o HAS OIS 23HE 3,000,000 * 14! 3,000
N HAHENANE 2 3,000 3,000 0
=2 1,500
2 1,500
201 Y2 Y| 3,000 3,000 0
= 1,500
2 1,500
01 AtR2elt| 3,000 3,000 0
o NAHAHARNS Y
75,000 * 10% * 48l 3,000
= 1,500
2 1,500
CEME! 3,524,606 3,456,430 68,176
= 1,739,243
= 831,006
2 904,357
LV E[ES 984,960 984,960 0
= 492,480
< 246,240
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S EOIMETIR D
Ha: ol8=T - B JIEN
ol BN (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
= 246, 240
307 212H0I 984,960 984,960 0
= 492,480
= 246,240
2 246,240
02 QIAAMBE 984,960 984,960 0
o BESZANHIA(732) 984,960,000 984,960
=2 492,480
= 246,240
2 246,240
ESAL Holols N 14,580 2,480 12,100
= 7,290
2 7,290
307 212H0IH 14,580 2,480 12,100
= 7,290
2 7,290
02 DIIAMBE 14,580 2,480 12,100
o EIIIEAL QALIAL DALY
14,580,000 14,580
= 7,290
2 7,290
EENL 31,540 6,340 25,200
201 Yereg| 1,540 1,540 0
01 At 22/t 1,540 1,540 0
<2YgLr" > 0
o B9V 3o HHLY
0,000 * 11 * 28l 1,540
307 212+0| 10,000 0 10,000
02 DINAAMBE 10,000 0 10,000
o HSAM ZAX RS 2HH X
10,000,000 * 18l 10,000
401 AEHIL 20 20,000 0 20,000
01 Al&| 20,000 0 20,000
o BYALSHOR0IT SHBA
20,000,000 * 14! 20,000
NI 121,828 121,828 0
= 60,914
= 30,457
2 30,457
301 YsrEAS 121,828 121,828 0
= 60,914
= 30,457
2 30,457
01 A2 EE 453 121,828 121,828 0
o AIZ0I0IB0IE LS 121,828,000 121,828

_28_




S EOIMETIR D
Hal: GEEX - 2% SN
ol BN (S5l &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
= 60,914
= 30,457
2 30,457
S0E BSDA SE2Rag 99,000 99,000 0
= 49,500
= 24,750
2 24,750
301 YsrEAS 99,000 99,000 0
= 49,500
= 24,750
2 24,750
NIEEEERSTE 99,000 99,000 0
o SHESSDASEAL(745) 99,000,000 99,000
= 49,500
= 24,750
2 24,750
SSAS HHRA 21| 16,380 0 16,380
= 8,190
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= 5,000
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= 1,400
o EX,HL . BF LA 100,000 * 3944 39,400
= 39,400
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